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Question Number : 1 Question Id : 62321711042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A teacher’s major contribution towards the maximum self-realization of the student 1s

affected through

Options:



Constant — fulfilment of the student’s needs.

Strict reinforcement of academic standards.

Sensitivity to students need. goals and purposes.

Strict control of classroom activities.

Question Number : 2 Question Id : 62321711043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An Educated person 1s

Options:

a person who can apply his knowledge and skill to find solutions to various problems.
1.,

a person who 1s capable of attaining individual and social fulfilment.
2.

a person who uses his knowledge to improve himself and the society.
=,

) All of the other options.

Question Number : 3 Question Id : 62321711044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

John Locke’ phrase of tabula rasa means

Options:

Tal & Ros

L,

free education

mind itself 1s a result of the process of evolution
=



’ All of the other options.

Question Number : 4 Question Id : 62321711045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The best educational programme 1s one which 1s according to the
Options:

need of the child

, ability of the child

interest of child

P All of the other options

Question Number : 5 Question Id : 62321711046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Teachers must follow “Differentiated Instruction™ as

Options:

To meet individual needs

Each child learns and processes information differently.
Z.

It 1s a successful approach to mnstruction
3.

All of the other options.

Question Number : 6 Question Id : 62321711047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

NMEICT stands for

Options:



National Mission on Education through ICT

, National Mission on E-governance through ICT

] National Mission on E-commerce through ICT

National Mission on E-learning through ICT
4

Question Number : 7 Question Id : 62321711048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Using a previously learnt concept in new situation 1s called
Options:

Comprehension
.,

Application

2

. Analysis

Synthesis
4,

Question Number : 8 Question Id : 62321711049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The two statements assertion and reasoning are given. Based on that choose correct
answer.
Assertion (A):  All teaching should aim at ensuring learning

Reason (R): All learning results from teaching

Options:

1 Both (A) and (R) are true

Both (A) and (R) are false



A 1s true. but (R) 1s false.

=

) A 1s false, but (R) 1s true.

Question Number : 9 Question Id : 62321711050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following skills are needed for present day teacher to adjust effectively with

the classroom.
a. Knowledge of technology
b. Use of technology in teaching learning.
c. Knowledge of students needs

d. Content mastery

(@) & ()
D&

(b), (c) and (d)

, D&

Question Number : 10 Question Id : 62321711051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Research is

Options:

searching again and again
1.

finding solution to any problem
2

working 1 a scientific way to searching for truth of any problem
=,



) None of the other options.

Question Number : 11 Question Id : 62321711052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The “ertror of the first kind” occurs if

Options:

1 the null hypothesis 1s rejected even though it 1s true.

the null hypothesis 1s accepted even though it 1s false.
z.

both the null hypothesis as well as alternative hypothesis are rejected.
=

None of the other options
4

Question Number : 12 Question Id : 62321711053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

One of the following 1s not a quality of researcher.
Options:

Keenness 1n enquiry
1

, He must be of alert mind

] His assertion to outstrip the evidence.

Unison with that of which he 1s 1n search

Question Number : 13 Question Id : 62321711054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

A statstical population is

Options:



a research total

A set of elements under study

a set of students in a study group

a human population

Question Number : 14 Question Id : 62321711055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s not an advantage of descriptive research?

Options:

Less time consuming than quantitative experuments.
1

Cannot test or verify the research problem statistically.
2

Effective to analyse non-quantified topics and 1ssues.

The qualitative and quantitative methods of data collection can be itegrated.
4,

Question Number : 15 Question Id : 62321711056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following criteria is not considered while creating a paper outline?
Options:
Isolate a manageable size
1.

Do not target the journal readership
Z.

Make the argument self-standing
3.



None of the other options
4.

Question Number : 16 Question Id : 62321711057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The principles of validity and reliability are fundamental cornerstones of

Options:

Quantitative research
1

Scientific research
2.

Qualitative research
=

All of the other options
4.

Question Number : 17 Question Id : 62321711058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these 1s not a method of data collection?
Options:

Questionnaires
1

Interviews

Experiments
3.

Observations

Question Number : 18 Question Id : 62321711059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The external sources which are used only for help to prepare a document but are not

actually present in the document is termed as

Options:



1 Reference

; Literature

Bibliography
=
Survey
4,
Sub-Section Number: 2
Sub-Section Id: 623217368
Question Shuffling Allowed : Yes

Question Id : 62321711060 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19 to 27)
Juestion Label - Comprehension



Read the following passage and answer the question:

Why do the vital organs of the body slow down on aging? Why do older people
experience sleep disorders? A new study holds the molecular machinery of the “master
clock: on the brain responsible for such malfunctions during old age. The study conducted
by researchers at the University of Urginia and reported in the journal ‘Proceedings’ of
the National Academy of Sciences, compares the working of the vital organs to a wall full
of clocks with a large dominant clock controlling the synchronization of the peripheral
clocks. The big clock continues to keep time, but as it ages, 1ts connecting signal to the
smaller clocks weakens. Some of the smaller clocks eventually becomes desynchronized
and some stop running. This weakening of the signal. rather than a problem with the
central timekeeper itself, apparently is the cause of alternations in the biological timing
system in aging mammals — possibly including humans, according to the researchers. This
may explain why older people experience sleep disorders — the signal from the master
clock in the brain has weakened. even as it keeps on ticking. This weakened output causes
some of the peripheral clocks in other organs to eventually stop oscillating or to fall out
of proper sync. causing sleep disruption and malaise, the report says. Lack of sleep can
affect more than a person’s level of alertness. In the long term. it can disrupt the body’s
metabolism, affect eating cycles, lead to declining cognitive abilities and possibly. a
shortened lifespan. Sleep disorders are also associated with Alzheimer’s disease. Gene D.
Block, professor of biology and one of the study’s lead researchers. was quoted in the
report as saying, “Our new finding demonstrates that the molecular machinery of the
master clock continues to function normally. Taken together with our earlier studies, this
suggests that there may be an age-related failure of the conversion of the clock’s molecular
rhythm into the electrical or humeral signals that the brain uses for communication. These
weakened central signals may fail to keep some peripheral clocks appropriately
synchronized or, in some cases, even rhythmic. “The scientists studied tissues from the
brain and other organs of older mice and measured the activity of a gene that is a part of
the biological clock. They found that the central clock in the brain, suprachiasmatic
nucleus, maintained proper periodicity and synchronization. Clocks in some peripheral
organs, such as the liver and kidney of older animals, were either improperly synchronized
or had lost thythm entirely. “This new knowledge could eventually lead to new therapies
for age-related desynchronization.” Block said, “Arrhythmic or improperly synchronized

tissues of old animals could possibly be stimulated by a treatment to oscillate normally”™.

Which of these factors is held responsible for the slowing down of the vital organs in old

age, as laid down 1n the passage?



Sub questions

Question Number : 19 Question Id : 62321711061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these factors 1s held responsible for the slowing down of the vital organs in old

age, as laid down in the passage?
Options:

, Molecular machinery of the master clock and the peripheral clocks m the brain

Master clock in the brain

] Weakening of the signals from the master clock in the brain

, Arrhythnic oscillationsof tissues of old animals

Question Number : 20 Question Id : 62321711062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following sentences 1s mcorrect according to the passage?

Options:

1 The connecting signals of the big clock fail, as 1t ages

Alterations in the biological timing system are restricted to lower mammals only
2.

The brain uses humeral signals, which are converted from the clock’s molecular

. rhythm

None of the other options
4.

Question Number : 21 Question Id : 62321711063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What was the breakthrough achieved, as a result of the scientist’s effort?

Options:



The discovery of the fact that the clock in some peripheral organs were either

1 improperly synchronized or had lost their rhythm completely

The knowledge that the oscillation i1s necessary to maintain a person’s level of

; alertness

The observation that the brain uses humeral signals for communication

None of the other options

Question Number : 22 Question Id : 62321711064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following sentences is true. in the context of the passage?
Options:

The brain of a guinea pig was used for the tissue experimentation

Declining cognitive abilities may be traced to sleeplessness

The big clock 1s directly synchronized to smaller clocks through tissues

Both Declining cognifive abilities may be traced to sleeplessness and the big clock

1s directly synchronized to smaller clocks through tissues

Question Number : 23 Question Id : 62321711065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following sentences 1s imcorrect, according to the passage?

Options:
There 1s a similarity in the functioning of the brain and the vital organs of the human

body with that of a wall full of clocks and the big clock synchronizing them
1



The molecular machinery of the brain is responsible for the entire malfunctioning

occurring at older ages

The study of tissues from the brain and other organs of mice helped scientists discover
that even though the suprachaiasmatic nucleus maintained time properly. the clock in

the peripheral organs were either out of sync or had lost rhythm entirely

None of the other options

Question Number : 24 Question Id : 62321711066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What appears to be true, in the context of a new findings?
Options:
Sufficient information about the bipolar disease 1s necessary to ward off

. desynchronization

Age related failure hampers the synchronization of the peripheral clocks in the

respect of organs
Alzheimer’s disease and sleeping disorder have a similar impact upon the human mind

Age related failure hampers the synchronization of the peripheral clocks in the
respect of organs and Alzheimer’s disease and sleeping disorder have a similar impact

, upon the human mind

Question Number : 25 Question Id : 62321711067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Alterations in the biological clock of ageing mammals are due to

Options:

, desynchronization of smaller clocks

5 destabilization of molecular machinery



. arrhythmic functioning of the old tissues

None of the other options
4,

Question Number : 26 Question Id : 62321711068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which i1s associated with Alzheimer’s disease?
Options:
Sleep disorders

1.

. Eating cycles

Body clock

3

[Laziness

Question Number : 27 Question Id : 62321711069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Clock 1n some organs were either improperly synchronized or had lost

rhythm entirely.
Options:

animals
peripheral
2.

outer
ot

imnternal
4.

Sub-Section Number: 3



Sub-Section 1d: 623217369
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 62321711070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The remark like “T have never seen you so smartly dressed” is an example of

Options:

Formal communication

Informal communication

Meta communication

Downward communication

Question Number : 29 Question Id : 62321711071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

In a classroom, a communicator’s trust level 1s determined by

Options:

; the change of voice level

. the use of abstract concepts.

. gifts & rewards

, eye contact

Question Number : 30 Question Id : 62321711072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Digitization 1s

Options:

Thin, Flexible Fibers of glass capable of transmitting light signals.
1::



The process in which media 1s made into computer readable form.
2.

5 Media’s focus on narrower audience segments.

, All of the other options.

Question Number : 31 Question Id : 62321711073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What 1s encoding?

Options:

It 1s the vehicle through which a message 1s carried from the communicator to the receiver.

It 1s the formulation of message in the communicators mind
2.

It 1s one who initiate communication process
3

Other end of communication

Question Number : 32 Question Id : 62321711074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Match the following:

a. Twitter - 1. Mark Zucherberg
b. Facebook - 2. Dick Costolo
c. Linkedm - 3. Jeff Wemer
d. Google - 4. Larry page
Options:

a-1 b-4 c-2 d-3

a-4 b-2 c-3 d-1



Question Number : 33 Question Id : 62321711075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The term DAVP stands for
Options:

Directorate of Advertising and visual publicity
1

. Department of Audio-Visual Publicity

Division of Audio-Visual Publicity
=, -

Directorate of advertising and vocal publicity
4,

Question Number : 34 Question Id : 62321711076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of these must be avoided for effective communication?

Options:

1 Sharing of activity

, Listening

. Ambiguity

; Politeness

Question Number : 35 Question Id : 62321711077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Verbal mode of communication may have barrier in delivering the proper message such

as

Options:

1 thoughts

, Dberceptions
emotions

, All of the other options

Question Number : 36 Question Id : 62321711078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match the following:

a. Teleconferencing - 1. First Para of news
b. Angle - 2. A website where you can add. remove or edit the content
¢. head - 3. Group of persons
d. Wikipedia - 4. Focus of the story
Options:

a-4 b-2 c-1 d-3

a-2 b-1 c-3 d-4

o
3 a-3 b-4 c-1 d-2
, a-3 b-2 c-1 d-4

Question Number : 37 Question Id : 62321711079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Five persons A, B, C, D, E are standing in a line. B 1s between D and C and D i1s between

A and B. If E 1s not adjacent to A, then the two persons at the ends are

Options:



C.E

L
5 B
_ AE
4. B C

Question Number : 38 Question Id : 62321711080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Mr. A’s mother 1s twice as old as his sister B. A 1s 3 years younger to his sister ‘B’ and 4

years older than his brother ‘C’ whose age 1s 16 years. Then the age of A’s mother, in

years 1s
Options:
s 44
, 46
34
2.
30
4,

Question Number : 39 Question Id : 62321711081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The number that comes next to the sequence 1s

5. 11 5% W2 325
Options:

960

1.

966



970

971

4.

Question Number : 40 Question Id : 62321711082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The pair of letters that are come next i the following letter series 1s

AC, DG, HL, MR,
Options:

SW

SX

2

SY

3.

SZ

4.

Question Number : 41 Question Id : 62321711083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If B 1s son of X and A i1s the son of the only daughter of mother of B. then A 1s related to

X as
Options:

Cousin Brother
1.

Grand Son

2
. Grand Father

, Brother-in-law

Question Number : 42 Question Id : 62321711084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

m . " ;

I£ 0.925 = — and if greatest common divisor (g.c.d.)ofm.nis 1, thenm+n =
n

Options:

53
1:: 9‘_ =

1906
Z.

916

G

1816
4,

Question Number : 43 Question Id : 62321711085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A train of length 180 m travelling at a speed of 58 kmph crosses a man walking in the

same direction with a speed of 4 kmph in “x” seconds, then x equals to

Options:
10
1
o A2
14
=
16
4

Question Number : 44 Question Id : 62321711086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

If a radius of a circle increases 50 percent. Then the percentage increase in the area of the
circle 1s
Options:

23

L



5
100
3
125
4,

Question Number : 45 Question Id : 62321711087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A person sells two articles for 1,800 each and he gains 20% on the first and loses 20%

on the second. Then the gain or loss in the total transaction to him is
Options:

2200 gain

1.
5 3200 loss
X150 gain
=,
150 loss
4.

Sub-Section Number: 4
Sub-Section 1d: 623217370
Question Shuffling Allowed : No

Question Number : 46 Question Id : 62321711088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
The text Nyaya sutras 1s composed by
Options:

. (Goutama

Charka
=



Jaimini

) Manu

Question Number : 47 Question Id : 62321711089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which school does not recognise upamana as a pramana?
Options:
Nyaya

Sankya

z.

- Chakra

) Jaiminm

Question Number : 48 Question Id : 62321711090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following pramana is considered for understanding the knowledge which we get

through the relation and its implication.
Options:
1 Arthapathi pramana

Upﬂillﬂllﬂ Prdinaiia
2.

: Anumana praiana

, Pratyaksha pramana

Question Number : 49 Question Id : 62321711091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Find the word which cannot be made using the letters of the given word.

“PARTICIPATION”
Options:

PARTICIPANT

1.

, NOTICE
PART

. PARTITION

Question Number : 50 Question Id : 62321711092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In some code “DEAN” is related to “NDAE” and “ROAD” 1s related to “DRDO” in the

same way as “SOME” is related to

Options:

1 ESMO
, EOMS
. EMOS

, MSEO

Question Number : 51 Question Id : 62321711093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Identify the diagram which represents the relationship among Judges, Thief and

Criminals.

Options:



QO O
©@o°

Question Number : 52 Question Id : 62321711094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Melt 1s related to liquid in the same way as Freeze 1s related to

Options:

Crystal
1:;

. Ice

Water
=,

Cubes

Question Number : 53 Question Id : 62321711095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

P 1s brother of Q. R is sister of S. How 1s P related to R?

Options:



1 Brother
Father
2.

Uncle

o

Sister
4.

Question Number : 54 Question Id : 62321711096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A person ‘A’ walks from a point ‘X’ in the North-East direction. He then turns left by 90

degrees in which direction is he from the starting point?
Options:

East
],

. North-East

West
oy

South-West
4,

Question Number : 55 Question Id : 62321711097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Discrete variables and continuous variables are two types of
Options:

. open end classification

time sense classification
=z,

qualitative classification
=



quantitative classification
4,

Question Number : 56 Question Id : 62321711098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The following table shows the sales (in thousands) of different models (A. B, C. D, E) of

cars manufactured by accompany from 2014 to 2018. Based on the information given,

answer the question given below.

- Model | A B C D E
Year

2014 42 48 51 32 48
2015 51 53 49 37 44
2016 50 60 71 39 47
2017 52 67 68 41 49
2018 64 72 70 52 53

The vear that registered highest growth percentage of sales of ‘B model cars over the
previous vear 1s
Options:

2015

L,

2016

2017

2018

Question Number : 57 Question Id : 62321711099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following table shows the sales (in thousands) of different models (A, B. C. D, E) of
cars manufactured by accompany from 2014 to 2018. Based on the information given,

answer the question given below.

T~_Model | A B C D E
Yeahl'\\“ha

2014 2 | 48 | 51 32 | 48
2015 51 53 49 | 37 | 44
2016 50 | &0 | T 39 | 47
2017 52 | 67 | 68 | 41 49
2018 64 | 72 70 | 52 | 53

The model that has registered lowest growth percent in 2017 over the previous year 1s

Options:

A

1.

C

Question Number : 58 Question Id : 62321711100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The following table shows the sales (in thousands) of different models (A. B. C. D, E) of

cars mamufactured by accompany from 2014 to 2018. Based on the information given,

answer the question given below.

k““aaggudel A B C D E
Year T

2014 42 | 48 51 32 | 48
2015 51 53 49 37 | 44
2016 50 | 8 [ 7l 39 | 47
2017 53 | 67 68 | 41 49
2018 61 | 2 70 52 | 53

The percentage increase in the sales of cars of models A and C put together in the year

2018 over the year 2015, adjusted to nearest integer, 1s



Options:

34

1

IS5
i

21
z.

28
4,

Question Number : 59 Question Id : 62321711101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following table shows the sales (in thousands) of different models (A. B, C, D. E) of

cars manufactured by accompany from 2014 to 2018. Based on the information given,

answer the question given below.

\‘“‘“x&l\'lﬂdel A B & D E
Year

2014 42 48 i | 32 48
2015 51 3 49 37 44
2016 50 60 71 39 47
2017 52 67 68 41 49
2018 64 72 70 52 53

In the given period the model that have registered highest growth percent is

Options:

D

L

C

A

Question Number : 60 Question Id : 62321711102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the people of different age groups in a town of total
population 9,000. Based on the information given in the chart answer the question given

below.

More than
50 years

40°
20 to 30
vears

100°

40-50
years

Below 20
years

The number of people in the age group below 20 years is

Options:

750

L,

1000

2

Question Number : 61 Question Id : 62321711103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the people of different age groups in a town with a total
population of 9,000. Based on the information given in the chart answer the question given

below.

More than
50 years

40°
20 to 30
years

100°

40-50
years

Below 20
vears

The number of people in the age group 30-40 and 40-50 put together exceed those in the
age group 20-30 by

Options:

750

1750
4,

Question Number : 62 Question Id : 62321711104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the people of different age groups in a town with a total
population of 9,000. Based on the mnformation given in the chart answer the question given

below.

More than

50 years
40°
20 to 30
rears
100° °

40-50
RIS Below 20

years

The percentage of people in the age group “above 50 years” in the total population is

Options:
11l
9
1
102
9
2.
9./
.
12E
v 9

Question Number : 63 Question Id : 62321711105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the people of different age groups in a town with a total
population of 9,000. Based on the mnformation given in the chart answer the question given

below.

More than
50 vears

40°
20 to 30
years

100°

40-50
years

Below 20
years

The difference between the number of people in the age groups 30-40 and 20-30 years 1s

Options:

1000

1

Sub-Section Number: 5
Sub-Section 1d: 623217371
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 62321711106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The full form of SLIP is
Options:

1 Serial Line Internet Protocol



, Serial Line Instant Protocol

Service Lost Important Principle

Service Line Interpol Protocol
4,

Question Number : 65 Question Id : 62321711107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following circuit is used as a ‘memory device’ in computers?
Options:

1 Rectifier

Flip-flop
2.

Comparator
3.

Afttenuator

Question Number : 66 Question Id : 62321711108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Charles Babbage mvented

Options:

; ENIAC
, Difference engine
Electronic computer

3

) Punch card



Question Number : 67 Question Id : 62321711109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Term associated with the comparison of processing speed 1s
Options:

FFTS

- MPG

z

MIPS
=

CPS

4,

Question Number : 68 Question Id : 62321711110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following software package is used for composing in printing press?

Options:
Lotus
1.
dBase
2.
Page Maker
=,
; Word Perfect

Question Number : 69 Question Id : 62321711111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which tags. when placed on an animal ear be used to record and track in a database of all
animal’s movement?

Options:

POS

1



RFID

2
PPS

3,
GPS

4,

Question Number : 70 Question Id : 62321711112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A byte can hold one of data.

Options:

character
1.

binary digit
2. -

b1t

o

kilobyte

Question Number : 71 Question Id : 62321711113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following is not a search engine?

Options:
Google
1

, Chrome

Yahoo

Bing



Question Number : 72 Question Id : 62321711114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
HTML 1s used to create
Options:

Machine language program
1.

High level programme
z.

Web page

3

, Web server

Question Number : 73 Question Id : 62321711115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
How many sustainable development goals are set by the UN General Assembly in 2015

for the year 2030?

Options:

17

1

18

2,

Question Number : 74 Question Id : 62321711116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Social sustainability refers to

Options:

Stewardship of resources, managing and conserving the environment.
1



sharing benefits fairly and equitably and respecting the quality of life of communities and

of human rights.

the concept of the enterprise supporting jobs and delivering income to communities in the

long term.

the concept of the enterprise supporting jobs and delivering income to communities in the

. short term.

Question Number : 75 Question Id : 62321711117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is / are the main factor (s) responsible for the rapid rate of

deforestation?
Options:

1 Rapid growth of population in the developing countries.

, Extension of agriculture and grazing lands.

Rising demand for lumber, timber, paper, fuel — wood and charcoal and other forest products.
3

p All of the other options

Question Number : 76 Question Id : 62321711118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
As aresult of primarily commercial fishing activity, what has happened to fish population

Options:
. There has been a decrease 1n the levels of toxins found in the flesh of fish population that we eat.

There has been a directional selection, favouring larger fish population
2.

- There has been a decline in population sizes of commercial fish stocks

Some commercial fish species are exhibiting faster growth rates.
4,



Question Number : 77 Question Id : 62321711119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Harmful radiations like alpha or beta particles or gamma rays in the environment causes

Options:

1 Air pollution
Soil pollution

. Noise pollution

) None of the other options.

Question Number : 78 Question Id : 62321711120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
In the production of wave energy. which form of energy is used?

Options:

Potential energy
1.,

, Kinetic energy

Solar energy
3.

Wind energy
4,

Question Number : 79 Question Id : 62321711121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A disease that becomes unusually widespread and even global in its reach is referred to as

Options:

1 Epidemic

, Pandemic



Spanish Flu

3

Hyperendemic
4.

Question Number : 80 Question Id : 62321711122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In India, Cyclone 1s tracked through which satellite?

Options:

GPS

1.

. Ocean SAT

IRS

o

INSAT

Question Number : 81 Question Id : 62321711123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
For what production and consumption phase out schedules, the Montreal Protocol has

been established?
Options:

Greenhouse emitting gases
1

Global warming emitting gases
z.

Ozone laver depleting substances
ok

, Water level increasing substances

Question Number : 82 Question Id : 62321711124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The women who pursue studies till their marriage are called
Options:

1 Sadyodwahay

Bramhavadinis
. Kshatriyavadinis

) All of the other options.

Question Number : 83 Question Id : 62321711125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The main challenges addressed by the National Education Policy 2019 are

a) access
b) equity
¢) quality
d) affordability

e) accountability

. (a.)ﬁ (¢) and (d)
., (D), (¢) and (d)
X (b). (¢) (d) and (e)

) (a).(b).(c), (d) and (e)

Question Number : 84 Question Id : 62321711126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The Gross Enrolment Ratio (GER) in higher education in the year 2016-17 according to
All India Higher Education Survey released by HRD Ministry was

Options:

24.5%

, 20.00%

Question Number : 85 Question Id : 62321711127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Which of the following organizations looks after the quality of technical and management
education i India?

Options:

, NCTE
MCI
2.

AICTE

3.

, IMEI

Question Number : 86 Question Id : 62321711128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Driving force in an ecosystem 1s

Options:

1 Plants

Producers



. Solar energy

Biomass energy
4,

Question Number : 87 Question Id : 62321711129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following Commission 1s termed as “Bible for teachers™?
Options:

Kothari Commission

Mudaliar Commission

Radhakrishnan Commission

Rammurthy review commission
4.

Question Number : 88 Question Id : 62321711130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Ministry of Human Resource Development (MHRD) includes
Options:

1 Department of Elementary Education and Literacy

., Department of secondary Education and Higher Education.

. Department of Women & Child development

All of the other options.
4,

Question Number : 89 Question Id : 62321711131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In which of the following states of India 1s the “Indian Institute of Sindhology” located?



Options:

1 Gujarat

Punjab
2.

] Rajastan

, Haryana

Question Number : 90 Question Id : 62321711132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

What is the most important element of non-formal education in the present era?
Options:

1 Teacher

Student
2
Media
=
School
4,
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Question Number : 91 Question Id : 62321711133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following pairs are correctly matched?

1. Article 266 — No tax shall be levied or collected except by authority of law.
2. Article 117 — No tax can be imposed unless asked for by the executive government.

3. Article 113 — No expenditure can be sanctioned unless asked for by the executive

government.

4. Article 265 — No expenditure can be incurred except with the authorisation of the

legislature.

Options:

1 1,2,3and 4

,2,3and 4

1,3and 4

3

2 and 3
4

Question Number : 92 Question Id : 62321711134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these is/are correct about Quadrilateral Security Dialogue (QUAD)?

1. It came into existence in 2007 between India, Japan, Australia and USA.
2. It is holding regular Head of State meetings since 2012.

3. It was resurrected in the year 2017 at 31°* ASEAN Summit.
Options:

1 and 2 only
1.

, 1only



; 1 and 3 only

1,2,and 3
4.

Question Number : 93 Question Id : 62321711135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who wrote System of Logic in 18437

Options:

J.S. Mill
1.

Hegel
z.

T.H. Green

=

; Karl Marx

Question Number : 94 Question Id : 62321711136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who said, “What is reasonable is real; that which is real is reasonable.”?

Options:

1 Bentham

2_Hobbes

Locke
Hegel

Question Number : 95 Question Id : 62321711137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
With regard to Modi’s Foreign Policy, which of these is/are not correct?

1.India has followed no-talks-with terror approach with Pakistan since attack on Uri in 2016.

2. India attended 44" G-7 Summit held in Quebec in 2018.
Options:

1 only
1
22(Hﬂy

Both 1 and 2
=k

4_Neitht—:-rlnf::rZ

Question Number : 96 Question Id : 62321711138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who argued that the structures of discrimination and oppression against women were
objectionable on the grounds of “social expediency” —that they were detrimental to overall

utility?
Options:

Karl Marx
1.

_ 1.5 Mill

Hobbes

3

, Gramsci.

Question Number : 97 Question Id : 62321711139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Arrange the following in chronological order as these emerged:
1. SCO
2. QUAD
3. G-20

4. WTO

Options:

(3) (2) (4) (1)

1.

(4) (3) (1) (2)

z.

(2) (3) (4) (1)

5

(2) (3) (1) (4)

4.

Question Number : 98 Question Id : 62321711140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who argued that it is better to be feared than loved, if you cannot be both?

Options:

. F. A. Hayek

Hobbes

z

;s Machiavelli

C.B. Macpherson

4



Question Number : 99 Question Id : 62321711141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Who said “Beasts that have Deliberation, must necessarily also have Will”?

Options:

Hobbes

., Machiavelli

J.S. Mill
=,

) Bentham

Question Number : 100 Question Id : 62321711142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Consider the following:

1. Modern-day communitarianism began as a critical reaction to John Rawls' landmark
book A Theory of Justice.

2. In Spheres of Justice, Michael Walzer pointed to the Indian caste system, as an example

of a non-liberal society that may be just according to its own standards.

Which of these is/are correct?

Options:

1 only
1.
X 2 only

. Both 1 and 2

, Neither 1 nor 2

Question Number : 101 Question Id : 62321711143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The Chapter VI of UN charter is associated with:

Options:

Pacific settlement of disputes
1

. Maintenance of international public opinion

Actions to be taken to counter acts of aggression.
=3

) The Security Council

Question Number : 102 Question Id ;: 62321711144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following book is not authored by John Locke?

Options:

The Reasonableness of Christianity

An Essay Concerning Human Understanding
2,

Two Treatises of Government
=

. On Liberty

Question Number : 103 Question Id ;: 62321711145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who developed the concept of sovereignty of the people?

Options:

J.J. Rousseau



, Leon Duguit

. Max Weber

) G.W.F. Hegel

Question Number : 104 Question Id : 62321711146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is not considered as a threat to Contemporary Sovereignty?

Options:

, Globalisation

International Terrorism

. Non-Proliferation of WMD

Power Blocs
4

Question Number : 105 Question Id : 62321711147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who, among the following, wrote the book “Bananas, Beaches and Bases: Making feminist
sense of International Politics.”?

Options:

Ralph Hummel
.,

Victor Thompson
2.

Cynthia Enloe

3

P Robert Merton



Question Number : 106 Question Id : 62321711148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

. Which of the following does NOT figure in Almond and Verba’s classification of

political cultures?
Options:

Affective orientation
1

Cognitive orientation
z.

Empirical orientation
=

, Evaluative orientation

Question Number : 107 Question Id : 62321711149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these is/are correct about BIMSTEC?

1. It is an international organization formed in 2004.

2. It has evolved from a sub-regional grouping, BIST-EC (Bangladesh, India, Sri Lanka, and

Thailand Economic Cooperation) that was formed in 1997.

3. It has 8 member states.

Options:

1 1 and 3 only
1 only
1,2,and 3

o

1 and 2 only

4



Question Number : 108 Question Id : 62321711150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is NOT a major characteristic of political modernization?

Options:

social stratification
1=

the separation of an integrated system of law from religion
2

functional specialization
=

kinship ties
4.

Question Number : 109 Question Id : 62321711151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Robert Nozick’s, the basis of individual rights is:
Options:

Natural rights

1

; Utilitarianism

Communitarianism
=

) National Interest

Question Number : 110 Question Id : 62321711152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who said “A revolution is an insurrection, an act of violence by which one class

overthrows another”?

Options:



1 Lenin

, Mao

Stalin
=

Karl Marx

4

Question Number : 111 Question Id ;: 62321711153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following are the federal features of the Indian Constitution?
1. Rigid Constitution

2. Office of the CAG

3. Bicameral legislature

4. Collective responsibility

5. Office of the Governor

Options:

liLan{:I?;

1,2 and 3

2

1,2and5
=3

1.2,.3and4

4

Question Number : 112 Question Id : 62321711154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which one of the following is NOT a conceptual approach in Comparative Public
Administration as identified by Ferrel Heady?

Options:

Middle-range Theory Formulation
1.

Development Oriented Approach
2

. The Input-Output System Approach

Modified Traditional Approach

4

Question Number : 113 Question 1d : 62321711155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who wrote The Power Elite (1956)?

Options:

Vilfredo Pareto

1

) C. Wright Mills
Robert Michels
=

Gaetano Mosca
4.

Question Number : 114 Question Id ;: 62321711156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Who said, “Communism is the riddle of history solved, and it knows itself to be this
solution"?

Options:

Marx



Engels
2.

Mao

=

Stalin

Question Number : 115 Question 1d : 62321711157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who wrote the book Political Order in Changing Societies (1968)?
Options:

1 Donald Trump

] Lucian Pye

. Samuel Huntington

Hannah Arendt

Question Number : 116 Question Id : 62321711158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is NOT correct about Aristotle?

Options:
1 Aristotle is highly critical of the ideal constitution set forth in Plato's Republic

He said, “one should call the city-state happy not by looking at a part of it but at all the
, Ccitizens”

Aristotle argues that for city-states that fall short of the ideal, the best constitution is one
; controlled by a numerous middle class which stands between the rich and the poor.

He believes the middle constitution is both more stable and more just than oligarchy but less

just than democracy.
4,



Question Number : 117 Question Id : 62321711159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Consider the following statements about Plato’s works:

1. One interlocutor who speaks in nearly all of Plato's dialogues is Socrates
2. Socrates makes no appearance in The Laws

3. In Republic, Thrasymachus asserted that justice is nothing but the advantage of the

stronger
Options:

1,2and 3

1

, 1and 2 only

X 3 only

2 and 3 only

4

Question Number : 118 Question Id : 62321711160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these is/are true about American Constitution?

1. It is the oldest among existing written constitutions of the world.
2. It provides for dual citizenship
3. The President of the US is elected from an indirect election

4. The Senate can by majority vote refuse to allow a duly elected member from taking his
seat.

Options:

1, 2 and 4 only

1

1and?2
2



1, 2 and3

3

1,2,3,and 4
4

Question Number : 119 Question Id : 62321711161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Robert Michels is associated with:

Options:

1 iron law of oligarchy

Economic Theory of Elite
2

. Psychological Theory of Elite

Pluralist Theory of Elite

Question Number : 120 Question Id : 62321711162 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who wrote Revolution and Counter-Revolution in China (1946)7?

Options:

Mao

1.

M.N. Roy
2.

. Savarkar

Khrushchev

4



Question Number : 121 Question Id : 62321711163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who among the following views Public administration as the art and science of
management as applied to affairs of the state?

Options:

1 Luther Gullick

, M. E. Dimock

H. Walker

3

) D. Waldo

Question Number : 122 Question Id : 62321711164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which one of the following was not identified by almond as a stage of conversion process
of a political system?

Options:

Interest articulation
1.

, Interest aggregation

. Political Recruitment

Rule adjudication
4

Question Number : 123 Question Id ;: 62321711165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The members of Bundestag are chosen through:

Options:



Mixed Member Proportional electoral system
1.

Single Transferable Vote
Z.

Instant-runoff voting
3.

Indirect elections
4

Question Number : 124 Question 1d : 62321711166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Consociational Democracy is an arrangement to mainly ensure:
Options:

Women Rights

1.

Elite’s predominance
2.

. Minority Rights

) Distribution of wealth

Question Number : 125 Question 1d : 62321711167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



Consider the following statements:

1. Ministry of Jal Shakti was formed by merging Ministry of Water Resources, River
Development & Ganga Rejuvenation and Ministry of Drinking Water and Sanitation in
May 2019

2. In the first Modi government (2014-19), the project to clean Ganga was moved from
the Ministry of Environment and Forests to the Ministry of Water Resources.

Which of these is/are correct?

Options:

1 1 only

2 only

2

. Both 1 and 2

Neither 1 nor 2

4

Question Number : 126 Question Id : 62321711168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is NOT true about Comparative Public Administration?

Options:
It is a theory of public administration applied to the diverse cultures and national

1 settings

Fred Riggs is considered as the father of comparative public administration
2.

The emergence of newly independent Third World countries contributed to its rise
3.

) It relied on metanarratives of the elites in administration

Question Number : 127 Question Id : 62321711169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In India, other than ensuring that public funds are used efficiently and for intended
purpose, what is the importance of the office of the Comptroller and Auditor General
(CAG)?

1. CAG exercises exchequer control on behalf of the Parliament when the President of

India declares national emergency /financial emergency

2. CAG reports on the execution of projects or programmes by the ministries are
discussed by the Public Accounts Committee.

3. Information from CAG reports can be used by investigating agencies to press charges
against those who have violated the law while managing public finances.

4. While dealing with the audit and accounting of government companies, CAG has
certain judicial powers for prosecuting those who violate the law.

Which of the statements given above is/are correct?
Options:

. 1,2and 3

3 and 4 only

z

2 and 3 only

41,2,3ar"|d-«fl

Question Number : 128 Question 1d : 62321711170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Who coined the term “Functionalist theory of Integration”?

Options:

. E.H. Carr
., Ernst Haas

. David Mittarany



Andrew Linklater
4

Question Number : 129 Question Id : 62321711171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A deadlock between the Lok Sabha and the Rajya Sabha calls for a joint sitting of the
Parliament during the passage of

1. Ordinary Legislation
2. Money Bill
3. Constitution Amendment Bill

Select the correct answer using the codes given below:

Options:

1,2 and 3
1

1 and 3 only

1 only

2 and 3 only

4

Question Number : 130 Question Id : 62321711172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following is NOT true about Pradhan Mantri Shram Yogi Maan-dhan (PM-SYM)?
Options:

Each subscriber under the PM-SYM, shall receive minimum assured pension of Rs 3000/-

per month after attaining the age of 60 years.
1.

Family pension is applicable only to spouse.



If a beneficiary has given regular contribution and died due to any cause (before age of 60

years), his/her spouse will be entitled to join and continue the scheme subsequently.
3

) It was integrated into Skill India Mission in May 2019

Question Number : 131 Question Id : 62321711173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The authorization for the withdrawal of funds from the Consolidated Fund of India must

come from:
Options:

The Parliament of India

The President of India

z

Lok Sabha

&

The Union Finance Minister

Question Number : 132 Question Id : 62321711174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

-Which one of the following is responsible for the preparation and presentation of Union

Budget to the Parliament?

Options:

1 Department of Revenue

) Department of Expenditure

. Department of Economic Affairs

Department of Financial Services
4



Question Number : 133 Question Id : 62321711175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In India, the first Municipal Corporation was set up in which one among the following?

Options:

Bombay

1

Calcutta

) Madras

. Agra

Question Number : 134 Question Id : 62321711176 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What is the correct sequence of Morton Kaplan's models of systems analysis?

1. Balance of Power
2. Loose Bipolarity
3. Tight Bipolarity

4. Universal International System

Options:

1,8,2.4
4,321
2.
349 9
=

1,284
4,

Question Number : 135 Question Id : 62321711177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
Who conceptualised the 'One Dimensional Man'?

Options:

1 David Miller
) C.B. Macpherson

) Robert Dahl

. Herbert Marcuse

Question Number : 136 Question Id : 62321711178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who was the Speaker of the First Lok Sabha?

Options:

G.V. Mavalankar

1.

V.V. Giri
2.

S.V. Patel
=

U.N. Dhebar

4

Question Number : 137 Question Id : 62321711179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

At which place was Gandhiji arrested for the first time by the British Government for

sedition?
Options:

1 Bombay



Ahmedabad

2

. Calcutta

Pune
4,

Question Number : 138 Question Id : 62321711180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following country is NOT having Constitutional monarchy?

Options:

UK
1.

Bhutan
2.

Sri Lanka

Japan
4,

Question Number : 139 Question Id : 62321711181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Who among the following was the Chairman of the Union Constitution Committee of the

Constituent Assembly?

Options:

. S.V. Patel

Rajendra Prasad
2.

Jawaharlal Nehru
=



4

B.R. Ambedkar

Question Number : 140 Question Id ;: 62321711182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Consider the following statements:
1. The Constitution of India has 20 parts.

2. Ninth, Tenth, Eleventh and Twelfth Schedules were added to the Constitution of India
by the Constitution (Amendment) Acts.

3. Article 368 grants constituent power to make formal amendments to the Constitution

Which of the statements given above is/are correct?

Options:

1 1 only

z

1,2 and 3

. 1and 3 only

, 2and 3 only

Question Number : 141 Question Id : 62321711183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Article 301 of the Constitution of India is related to:

Options:

. The Union Finance Minister

, Right to Property

Freedom of trade, commerce and intercourse
=



Borrowing of the government of India
4.

Question Number : 142 Question Id : 62321711184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following is responsible for formulating “Bazaar-Canteen Model?”

Options:

Fred Riggs

1

Herbert Simon

. Jaiprakash Narayan

F.W. Taylor
4

Question Number : 143 Question Id : 62321711185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
With reference to Indian Parliament, which one of the following is not correct?
Options:

Finance Bill is required for proposing new taxes but no another Bill/Act is required for making

changes in the rates of taxes which are already under operation
1.

No Money Bill can be introduced except on the recommendation of the President
2.

The Appropriation Bill must be passed by both the Houses of Parliament before it can be

. enacted into law

No money shall be withdrawn from the Consolidated Fund of India except under the

appropriation made by the Appropriation Act

Question Number : 144 Question Id : 62321711186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following Articles of the Indian Constitution provides that ‘It shall be the
duty of the Union to protect every State against external aggression and internal

disturbance’?



Options:

Article 24
1.

Article 275
2

Article 330

3

. Article 355

Question Number : 145 Question Id : 62321711187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one of the following is NOT propounded by F.W. Taylor?
Options:

1 Unity of Command

labour process theory
2

Time and Motion study

3

) Shop management

Question Number : 146 Question Id : 62321711188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The resolution for removing the Vice-President of India can be moved in the:

Options:

Lok Sabha alone
1.

Rajya Sabha alone
2.



_ Either House of Parliament

) Joint Sitting of Parliament

Question Number : 147 Question Id : 62321711189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Zonal Councils have been established by:

Options:

States Reorganisation Act
1.

Article 300 of the Constitution

z

Zonal Councils Act
o

An order of the President of India
4

Question Number : 148 Question 1d : 62321711190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Where one or more members of parliament debate over a proposed piece of legislation so

as to delay or entirely prevent a decision being made is called:

Options:

1 Gerry mandering

) Filibustering

Guillotine
=



Log-rolling

4

Question Number : 149 Question Id : 62321711191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The theory of hegemonic stability was proposed by:

Options:

Charles Kindleberger

1

Robert Gilpin
z.

Immanuel Walterstein

Arnold Wolfers
4

Question Number : 150 Question Id : 62321711192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of these African countries is not considered as part of the Middle East?
Options:

. Algeria

Egypt

2

. Israel

Jordan

Question Number : 151 Question Id : 62321711193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Who developed the concept of The Pole of Power and the Pole of Indifference to explain

state’s behaviour?

Options:

Nicolas Spykman
1.

Arnold Wolfers

Stephen Walt
o

Jack Snyder

4

Question Number : 152 Question Id : 62321711194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of these is/are correct about Alfred Thayer Mahan?
1. He wrote a book The Influence of Sea Power Upon History, 1660—1783.

2. Mahan believed that national greatness was inextricably associated with the sea, with

its commercial use in peace and its control in war.

3. Mahan envisioned the United States as the geopolitical successor to the British Empire.

Options:

1 and 3 only

1

X 1 only
1 and 2 only
=,

1, 2 and 3.
4

Question Number : 153 Question Id : 62321711195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of this is/are true about Nicholas John Spykman?
1. He was a geostrategist who originated the Eurasian Rimland concept.

2. In his earliest non-journalistic work, The Social Theory Of Georg Simmel, Spykman
developed a position neither realist nor geopolitical, but idealistic and scientistic.

Options:

. 1only

2 only

Both 1 and 2

3

Neither 1 nor 2

Question Number : 154 Question Id : 62321711196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The 11t BRICS Summit is scheduled to held in:

Options:

Brazil
1.

India

. Canada

China

4

Question Number : 155 Question Id : 62321711197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of this is/are true about Offensive Realism?
1. It was developed by Kenneth Waltz in 2001.
2. It argues that international politics happens in the condition of anarchy.

3. It believes that states want to survive through ‘maximisation of power’.

Options:

1 only

1

1 and 2 only

2

2 and 3 only

=

,1,2and3

Question Number : 156 Question Id ;: 62321711198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A group of nineteen agriculture exporting countries committed to bringing about further
liberalization of the rules for world agricultural trade is known as which one of the
following:

Options:

Group of 20

1

Global South

2

Cairns Group
=,

. Frankfurt Group

Question Number : 157 Question Id : 62321711199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
According to Carl Von Clausewitz, which one of the following is not the main object of

warfare:

Options:

To conquer and destroy the armed power of the enemy.
1.

To bring cease-fire

To take possession of his material and other sources of strength.
3.

To gain public opinion.

Question Number : 158 Question 1d : 62321711200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Who amongst the following gave the statement that “India must strive to develop
comprehensive national power to tackle the challenges posed by the shift in global
strategic focus towards the Asia-pacific region”:

Options:

P.V. Narasimha Rao
1.

] |.K. Gujral

Narendra Modi
i

Manmohan Singh

4.

Question Number : 159 Question Id : 62321711201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of these is true about Thucydides Trap?



Options:

It is developmental trap faced by Middle Income Economies

It explains the liberal internationalist understanding of international politics
2.

It is an idea that the rivalry between an established power and a rising one often ends in war.
3.

It explains why maritime dominance is better than land based dominance

Question Number : 160 Question Id : 62321711202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
Which of these is/are true with regard to "arms control" and "disarmament"?
Options:

Pope Innocent Il called an international conference to discuss the possible means of

controlling the crossbow in 1139
1

Both "arms control” and "disarmament” are synonymous
2

The Chemical Weapons Convention, 1993 is international treaty that bans the use of
chemical weapons in war but allows the development, production, acquisition, stockpiling,

_ or transfer of such weapons.

In modern warfare, chemical weapons were first used in World War |l

Question Number : 161 Question Id ;: 62321711203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which one of the following is the core principle of Non-alighment:
Options:

1 Avoidance of Economic alliance

, Not to be part of any military alliance



Aloofness from international affairs
=,

, Keep away from the activities of international organisations

Question Number : 162 Question Id : 62321711204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The Kaladan transport project of India is related to which one of the following country

Options:

Myanmar
1.

Bahrain
2

Sri Lanka
oy

Mauritius

Question Number : 163 Question Id : 62321711205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Article 156 of the Constitution of India provides that:

Options:
. Governor shall hold for a term of five years from the date on which he enters upon his office

The council of ministers shall be collectively responsible to the legislative assembly of the
; state

The executive power of the state shall be vested in the governor and shall be exercised by
him either directly or through officers subordinate to him in accordance with this
. Constitution

There shall be a council of ministers with the chief minister as the head to aid and advise the
governor in the exercise of his functions



Question Number : 164 Question Id : 62321711206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is/are true about Treaty on the Non-Proliferation of Nuclear
Weapons (NPT)?

1. It seeks to prevent the further spread of nuclear weapons, to promote cooperation in
the peaceful uses of nuclear energy, and to pursue nuclear disarmament.

2. It entered into force in 1996.
Options:

. only
, 2only

. Both 1 and 2

. Neither 1 nor 2

Question Number : 165 Question Id : 62321711207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one of the following experiments was NOT included in the Hawthorne

experiments?

Options:

Bank wiring observation room
1.

Relay assembly test room
2.

Cutting metals
=,

Great illumination



Question Number : 166 Question Id : 62321711208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
According to Chester Barnard, the strength of administrative authority lies in the zone of:

Options:

resistance
1.

. indifference

acceptance
o

; survival

Question Number : 167 Question Id : 62321711209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is NOT true about Shanti Parva?

Options:

. Itis the twelfth of eighteen books of the Indian Epic Mahabharata

It explains why there is no superior caste

It asserts that rulers have a dharma to punish criminals with capital crime for stealing from

. treasury

, A person should never do that to others, which he does not like to be done to him by others

Question Number : 168 Question Id : 62321711210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Zone of indifference is the concept given by:
Options:

. - Simon



C.l. Bernard

2

Fred Luthans
i
. Chris Argyris

Question Number : 169 Question Id : 62321711211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Lokpal and Lokayuktas Act, 2013, which of the following is NOT true?
Options:

1 Pinaki Chandra Ghose was appointed as the first Lokpal of India on 19 March 2019

It consist of a chairperson and a maximum of eight members, of which 50% will be judicial
. members

. PM is under the purview of Lokpal

All NGOs receiving donations from foreign source in excess of Rs 5 lakh per year are under

the jurisdiction of Lokpal.

4

Question Number : 170 Question Id ;: 62321711212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following NOT considered a part of Communication?

Options:

., encoding

noise
. sender

; cyber kinetics



Question Number : 171 Question Id : 62321711213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Hoover Commission was appointed in:

Options:

1947

1

1956
2

1948

3

1949
4.

Question Number : 172 Question Id : 62321711214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following local government units are prevalent in France?
1. Communes
2. Department
3. Arrondissement

4. Canton

Options:

1,2,3and 4
.,

2 and 3 only
2.



1, 2 and 3 only

3

1 and 3 only

4

Question Number : 173 Question Id : 62321711215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

How many members are nominated to the State Legislative Council by the Governor?

Options:

One-twelfth

1

One-sixth

One-eighth

3

Not fixed

Question Number : 174 Question Id : 62321711216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following true regarding Right to Information (Amendment) Bill, 20197

Options:
It fixes the tenure of Chief Information Commissioner (CIC) and Information Commissioners

(ICs) for 5 years

The salary of the CIC and ICs have been made equivalent to the salary paid to the Chief

Election Commissioner and Election Commissioners, respectively.
A

The bill was passed in the Monsoon session of 16™ Lok Sabha



None of the other options

Question Number : 175 Question 1d : 62321711217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which of the following country follow Collegial type of executive?

Options:

. UK
) Switzerland

. Canada

Saudi Arabia

Question Number : 176 Question Id : 62321711218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Article 280 of the Indian Constitution is related to:

Options:

Finance Commission
1.

UPSC

2

: Chief Information Commissioner

National Emergency



Question Number : 177 Question Id : 62321711219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following is NOT correct for “Model Code of Conduct for the Guidance of Political
Parties and Candidates”?

Options:

It was formulated in the Indian Parliament in 2001

The carrying of effigies purporting to represent members of other political parties or their
leaders, burning such effigies in public and such other forms of demonstration shall not be

countenanced by any political party or candidate.
2.

Excepting the voters, no one without a valid pass from the Election Commission shall enter
the polling booths.

3

From the time elections are announced by the Commission, ministers and other authorities

shall not announce any financial grants in any form or promises

Question Number : 178 Question Id : 62321711220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

According to Kautilya’s Arthashastra:

1. The state ceaselessly engages in the pursuit of wealth and power and self-aggrandisement in

an anarchic inter-state system in which matsyanyaya prevails

2. The doctrine of mandala provides both a categorisation of states and their inter-relationships
as well as prescriptions on how to exploit this matrix to one’s advantage.

3. There are seven prakritis, which constitute the seven pillars on which the state can be

considered to stand strong

Select the correct answer

Options:

. 1,2and3

, 1and 2 only



; 2 and 3 only

None of the other options
4

Question Number : 179 Question Id : 62321711221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which are the causes of disaffection, lack of motivation and increase in economic distress
among people in Kautilya’s Arthashastra?

1. When good people are snubbed, and evil people are embraced
2. When officials engage in thievery, instead of providing protection against robbers
3. Rise of favoritism and falsehood in society

4. When state’s prakritis remain robust
Options:

, 1 and 2 only

4 only
z.

. 1,2 and 3 only

1,2,3and 4
4.

Question Number : 180 Question Id : 62321711222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The “clash of civilization” thesis has been offered by:
Options:

. V.S. Naipaul



’ Robert Putnam

. Samuel Huntington

) Edward Said



